KTMR2R 1290 SUPER ADVENTURE R 2023 <2023><CN><F9987W6>

EXHAUST SYSTEM
57961
Pos Part Number Description Additional Text Quantity

1 61905083000 Silencer 1.00
2 61905058000 V-clamp D=116,1 1.00
3 61905005005 Manifold gasket 1.00
4 60305069100 Bushing 4.00
5 61305068000 DAMPING RUBBER 2.00
6 60405069000 Shape disc Alu 1.00
7 0019080456 countersunk screw M8x45 TX45 1.00
8 61905011033 Heat protection preass. 1.00
9 58605083014 Oval head screw M5x14 TX25 only for "R" 1.00
10 60305083081 SILICON SLEEVE 1.00
11 60305083082 SPACER BUSHING 1.00
12 69008021080 clip nut M5 1.00
13 27005011011 DAMPING ELEMENT SILICON 3.00




14 69005105005 Manifold gasket 1.00
15 63605058100 Exhaust clamp tube 50 mm 1.00
16 75041090200 LAMBDA SENSOR 3.00
17 61905007100 Manifold front 1.00
18 54603048600 RANGE CHANGE METAL NUT M5 INOX 2.00
19 60405008200 Header with integral insulatio 1.00
20 0025080456 HH collar screw M8x45 TX40 1.00
21 61905030000 Heat guard 1.00
22 78105081010 SCREW TORX M5X10 2.00
23 51010086100 self-locking nut M8 Cu 6.00
24 69005005100 EXHAUST PIPE FLANGE GASKET 2.00
25 60305007015 SHELL EXHAUST PIPE CPL. 1.00




